Bright Club Edinburgh

Christmas riddle crossword

Solve the anagram of letters in yellow squares to find out

“What tastes better than it smells?”

Across

1 Bought by the metre, but worn by the foot (6)

7 Traditionally, this man has two or three balls (7)
9 So delicate that saying its name breaks it (7)
11 This lady is a gem (5)

12 Has a neck, but has no head (6)

13 Begins with t, is filled with t, and ends in t (6)
15 Travels the world but stays in one spot (5)

17  Joins two people, but touches only one (7,4)

19 The more you take, the more you leave behind (5)
20 Often drawn on camels (5)

Down
2 A thing with only one hand (3)

3 Easy to get into - hard to get out of (7)

4 Tall when young and short when old (6)

5 Can go up a chimney down but can’t come down a
chimney up (8)

6 Obvious Christmas gift for woodland bears (6,5)

8 Has space, but no room - you can enter but you can'’t

leave (8)
10 Best way to stop food going bad (3,2)
14  Said by surprised pig (5)
16  Trees you carry in your hands (5)
18 Adry liquid (3)



